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QUESTION 1

What is the default BGP group type on a Junos device? 

A. internal 

B. external 

C. multihop 

D. null 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Referring to the output shown in the exhibit, which two statements are true? 

A. The route is active 

B. The route is not active 

C. The route is a generate route 

D. The route is an aggregate route 

Correct Answer: AC 
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QUESTION 3

What are three well-known mandatory BGP attributes? (Choose three.) 

A. community 

B. AS path 

C. local preference 

D. origin 

E. next hop 

Correct Answer: BDE 

 

QUESTION 4

Which statement is correct about trunk ports? 

A. Trunk ports must have an IRB assigned to accept VLAN tagged traffic. 

B. By default, trunk ports accept only VLAN tagged traffic. 

C. By default, a trunk port can have only a single VLAN assigned. 

D. trunk ports must have an IRB assigned to accept untagged traffic. 

Correct Answer: B 

 

QUESTION 5

Which statement is They are stateless and evaluated by the control plane true about Layer 2 firewall filters on EX Series
switches? 

A. They are stateful and evaluated by the forwarding plane. 

B. They are stateless and evaluated by the control plane. 

C. They are stateful and evaluated by the control plane. 

D. They are stateless and evaluated by the forwarding plane. 

Correct Answer: D 

 

QUESTION 6

Which two statements describe NSR? (Choose two.) 
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A. NSR requires GRES to function properly. 

B. NSR provides routing loop protection. 

C. NSR rapidly detects link failures. 

D. NSR provides high availability with multiple Routing Engines. 

Correct Answer: AD 

 

QUESTION 7

Which two port security features use the DHCP snooping database for additional port security? (Choose two.) 

A. dynamic ARP inspection 

B. MACsec 

C. IP Source Guard 

D. MAC learning 

Correct Answer: AC 

 

QUESTION 8

Click the Exhibit button. 
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Which statement is true about the configuration shown in the exhibit? 

A. Only the local-pref import policy will be evaluated when routes are learned from neighbor 172.30.1.1 

B. Only the add-community import policy will be evaluated when routes are learned from neighbor 

172.30.1.1 

C. No import policy will be evaluated when routes are learned from neighbor 172.30.2.1 

D. Both the add-community and local-pref import policies will be evaluated when routes are learned from neighbor
172.30.2.1 

Correct Answer: D 
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QUESTION 9

Which statement is correct about IS-IS link state PDUs? 

A. They are used to maintain link-state database synchronization. 

B. They are used to establish adjacencies. 

C. They are used to build the link-state database. 

D. They are used to determine whether the neighbors are Level 1 or Level 2. 

Correct Answer: C 

 

QUESTION 10

Which two statements are true about an EX2300 device? (Choose two.) 

A. By default, trunk ports can carry untagged traffic. 

B. By default, all switch ports are trunk ports. 

C. By default, all switch ports are access ports. 

D. By default, all switch ports are associated with the default VLAN. 

Correct Answer: CD 

 

QUESTION 11

Which device is used to separate collision domains? 

A. switch 

B. router 

C. hub 

D. firewall 

Correct Answer: A 

 

QUESTION 12

What are two interarea OSPF LSA types? (Choose two.) 

A. Type 1 router LSAs 

B. Type 3 summary LSAs 
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C. Type 4 ASBR summary LSAs 

D. Type 2 network LSAs 

Correct Answer: BC 

 

QUESTION 13

You are enabling dynamic ARP inspection on an EX4300 switch. 

Which service is enabled by default in this scenario? 

A. DHCP snooping 

B. persistent MAC learning 

C. MAC limiting 

D. IP Source Guard 

Correct Answer: A 

 

QUESTION 14

Click the Exhibit button. 

Both the R1 and R2 devices are advertising prefix X into AS 65530 with the BGP attributes shown in the exhibit. 

Which statement is correct in this scenario? 

A. R2\\'s version of prefix X will be active because of the local preference attribute. 
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B. R1\\'s version of prefix X will be active because of the local preference attribute. 

C. R1\\'s version of prefix X will be active because of the AS path attribute. 

D. R2\\'s version of prefix X will be active because of the AS path attribute. 

Correct Answer: D 

 

QUESTION 15

Which two elements are used to create the STP bridge ID? (Choose two.) 

A. the root port number 

B. the bridge priority value 

C. the system MAC address 

D. the port cost 

Correct Answer: BC 
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